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PAPER ONE

Part I LISTENING COMPREHENSION (15 minutes, 15 points)

Section A (1 point each)

Dircctions; In this section, you will hear nine conversations between two speakers. At the

end of each conversation, a third voice will ask a question about what was said. The

yuestion will be spoken only once. Choose the best answer {rom the {our choices given by

marking the corresponding letter with a single bar across the square bracket on your

Machine-scoring Answer Sheet.

1.

A. The library no longer had the book on reserve.
—_ 4 —



The homework assignment wasn™ clear.
The professor had chosen a mystery book for him instead.
. The library closed earlier than he'd expected.
. They are roommates.

They are club members.

They are team members.

They are officc mates.

. He need to sleep for three or four hours.

He wants to buy a set of coffee cups.

He will need more than one cup of coffee.

. He has been wide awake for some time.

. There is not time to {it in a course.

She hasn’t started to work yet.

It’s too early to register for the course.

. She still has more forms to sign.

(2]
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. On a highway.

At a managers’ conference.

In a supermarket.

. At a track meet.

. He can’t find the tickets.

He doesn’t want to sit close to the stage.
He would rather stand than sit down.
He expects the hall to be crowded.

. Preparing for a vacation.

Drawing a map.

Repairing a car,

. Riding bicycles.

. The machine won’t be very useful.

She will show him which piece to use,
he’s putting too much paper in the machine.
She can’t follow the instructions either.

. He has to go to another meeting first.
He won't want to speak at the meeting.
He might get lost in the crowd.

He doesn’t like to go places.

Section B (1 point each)
Dircctions: In this section, you will hear two short passages. At the end of each passage,

—_ 5 —



there will be some questions. Both the passage and the questions will be read to you only
once. After each questions there will be a pause. During the pause, you must choose the
best answer from the four choices given by marking the corresponding letter with a single

bar across the square bracket on your Machine-scoring Answer Sheet.

. The staff.
Professional journalists.
The faculty.

A group of students.

10.

11. A. To make lots of money.

To learn to type.

To become a better student.

To get experience in journalism.
12. A. Immediately.

Tomorrow.

OEFPIOEETOW B

In a couple of days.
. In six days.
13. A. A new method to track fish.

New sources of electric power.

0w >

A new surgical procedure.
New ways to feed fish.
14. A. Extracting pieces of wire.

Repairing a computer.

0w >

Removing the fish from polluted areas.

&

Implanting small transmitters.

. Insufficient rice.

—
(3]
>

Dams on the river.

=

. Electrical currents.

oo

. Overfishing of the river.
Part [ VOCABULARY (10 minutes, 10 points)

Section A (0. 5 point cach) ,

Directions: There are ten sentences in this section. Each: sentence has one word or a set of
words underlined. Below the sentence are four words or phrases marked A, B, C and D.
Choose the word or phrase that is closest in meaning to the underlined one. Mark the
corresponding letier with a single bar across the square bracket on your Machine-scoring
Answer Sheet.

__.6_



16.

17.

18.

16.

20.

2l

22.

23.

24.

For most people the decision to wed is generally surrounaed by social constraints.
A. marry B. emigrate
C. choose a job ' D. have children

Proper exercise plays a significant role in the rehabilitation of patients with various back

ailments.
. operation B: recovery
C. casting [. relaxation

When telephone calls are transmitted by satellite, a dim echo can often be heard on the
line.

A. weak B. static

C. harsh D. deep

Horsceback riding embraces both the skill of handling a horse and the mastery of diverse
riding styles.

A. {osters B. emphasizes

C. cxaggerates D. includes

Using extremely different decorating schemes in adjoining rooms may result in discord

and a lack of unity in style.

A. compromise B. disharmony

C. disillusion D. anxicty

Diplomatic misunderstandings can often be traced back to blunders in translation.
A. mistakes B. attempts

C. insults D. arguments

Financial consultants acknowledge that the value of common stock is inherently

changeable.
A. relatively B. intrinsically
C. sporadically D. incrementally

Robots are extremely expensive but the manufacturers claim that this can be
compensated by using them on double shifts in factories.

A. set up B. sct down

C. set off %>37, D. set aside

You mustn’t allow your work to become sloppy. but rather you should try to improve

1.

A. fall off - B. come off
C. put off D. wear off

5. He is not the sort of man who would withdraw from what he’s said.
A. gobackon |, ¢ B. get down to
C. give up to B D. put up with



Section B (0. 5 point each)
Directions: There are ten sertences in this section. Each sentence has something omitted.

Choose the word or words frcm the four choices given to best complete each sentence.

26. The insurance system everyone a minimum of subsistence in case of

unemployment, sickness a.d old age.

A. pledges ( B. ensures
C. promises " D. guarantces
27. Through the method of echo-sounding, oceanographers can the depth of the
ocean at a specific site in a matter of second.
A. presume B ascertain
C. evaluate : D. designate

28. Negotiations between the employers and the workers broke down because both sides

were too
A. ingenious B. indispensable
C. incredible D. incompatible
29. The key to the new materials is researchers’ increasing ability to substances at

the molecular level.
A. formulate B. manipulate -~
C. regulate . D. stimulate

30. The group of spectators was by the police who were at the scene of the

accident.
A. dispersed B. displaced
C. disposed D. discharged
31. Before the gases are discharged into the atmosphere they must be harmless.
A. rendgr\eci/d ; B. disposed
C. handled D. converted
32. He after the car accident, although at first he wasn’t expected to live.
A. pulled up B. pulled off
C. pulled over D. pulled through
33. But very few fear the slow catastrophe that is upon the world through

environmenta! pollution.

A. creeping - B. crawling
C. mounting D. ascending
34. In spite of the destruction caused by the earthquake, the people tried to . their

own business as if nothing had happened.
A. go over B. go about
Jo— 8 J—



C. go with D. go through

35. We are prepared to make some concessions on minor details, but we can not
on fundamentals. T
A. concentrate B. complement

C. compensate D. compromise
Part 11  CLOZE TEST (10 minutes, 15 points)

Directions: Read the passage through. Then go back and choose one item of suitable word
(s) marked A, B, C or D {or each blank in the passage. Mark the corresponding letter of
the word(s) you have chosen with a single bar across the square bracket on your Machine-

scoring Answer Shect.

The water of the oceans of the carth are full to 36 with all kinds of food. Under
careful scientific 37 , the sea alone could supply enough food for 38  seven times the
present world population. Thisis 39 > g/rio‘ugh to end starvation among men.

Nearly a third of the world’s population suffers from 40  of protein. Millions live
41  hunger and die from 42 , while enough food for all 43 in the sea. If
starvation is to be avoided among the underfed peoples of the world in the closing years of
the twentieth century, 44  steps must be taken now to improve their food supply. The
food resources of the scas must be 45  scientifically and protected from pollution.

Oceanographers are working on these problems. A fish protein concentrate has been
produced. It could do much to 46  dietary deficiencies among the underfed population.
Problems of pollution are being attacked by both government officials and operators of

industrial plants. Steps are being taken to 47  some of the more serious problems.

Fecding the hunger of the earth 48  the resources of the sea 49 protecting

is one of the most

the waters from the waste products of a highly technological world

important 50 facing the world scientists of today and tomorrow.

36. A. overfilling : B. overgrowing
C. overflowing D. overfeeding
37. A. management B. supervision
C. modification D. administration
38. A. brieflly B. closcly
C. roughly D. scarcely
39. A. all but B. so far
C. far {rom D. more than
40. A. lack ™~ B. less
C. shortage D. minimum



41. A. in B. on

C. with D. from
42. A. psychiatry B. infection

C. disturbance D. mulnutrition
43. A. avails B. absorbs

C. abounds D. assembles
44. A. notable B. positive

C. efficient D. tremendous
45. A. tackled B. handled

C. settled D. explored
46. A. combat B. compel

C. contend D. consent
47. A. diminish B. respond

C. remedy D. encounter
48. A. by B. for

C. from D. with
49. A. then B. thus

C. while D. though
50. A. hazards B. threats

C. explorations D. challenges

Part IV READING COMPREHENSION (45 minutes, 30 points)

Directions: In this part of the test, there are five short passages for you to read. Read each
passage carefully, and then do the questions that follow. Choose the best answer A, B, C
or D, and mark the corresponding letter with a single bar across the square bracket on your

Machine-scoring Answer Sheet.

Passage One

The open and the disguised unemployment in the rural areas is often thought to be due
entirely to population growth and no doubt this is an important contributory factor. But
those who hold this view still have to explain why additional people cannot do additional
work. Tt is said that they cannot work because they lack “capital”. But what is “capital”? Tt
is the product of human work. The lack of capital can explain a low level of productivity but
it cannot explain a lack of work opportunities.

The factor remains however that great numbers of people do not work or work only
intermittently, and that they are therefore poor and helpless and often desperate enough to
leave the village 10 search for some kind of existence in the big city. Rural unemployment

— 10 —



produces mass-migration into cities, leading to a rate of urban growth which would tax the
resources of even the richest societies. Rural unemployment becomes urban unemployment.

The problem may therc{ore be stated quite simply ; what can be done to bring health to
economic life outside the big cities, in the small towns and villages which still contain, in
most cases, cighty to ninety percent of the total population? As long as the development
effort is concentrated mainly on the big cities, where it is easiest to establish new industries,
to staff them with managers and men, and to {ind finance and markets 1o keep them going,
the competition {rom these industries will {urther disrupt and destroy non-agricultural
production in the rest of the country, will cause additional unemployment outside, and will
{urther accelerate the migration of poverty-stricken people into towns that cannot absorb
them.

It is necessary therefore that at least an important part of the development effort should
bypass the big cities and be directly concerned with the creation of an *agro-industrial
structure ” in the rural and small town areas. The real task may be formulated in four
propositions. First, workplaces have to be created in the areas where the people are living
now, and not primarily in metropolitan areas into which they tend to migrate. Second,
workplaces must be on average cheap enough so that they can be created in large numbers.
Third, the production methods employed must be relatively simple. so that the demands f{or
high skills are minimized, not only in the production process itself but also in matters of
organization, raw material supply, financing, marketing and so forth. Fourth, production
should be mainly from local materials and mainly for local use.

51. Inthe first paragraph, the author expresses his opinion that

A. insufficient capital means few jobs are available

B. unemployment is due entirely to population growth

C. capital will be generated by increased work opportunities

DD. additional people cannot do additional work
52. Which of the following points is not given as a reason why development is usually

concentrated in big citics?

A. There is more capital available to invent in industry.

B. There is no problem to recruit the required workforce.

C. There are more outlets far selling the new products.

D. There is a greater competition to encourage efficiency.

53. Tt is implied in the passage that the concentration of the development cffort on the big
cities will

A. causc more unemployment in the rural areas

B. bring health to economic life outside the big cities

C. provide enough employment for those who are unemployed in the rural arcas

D. prevent mass migration of poor people into cities



54. In the author’s opinion, development efforts should be directed to
A. creating as many new jobs as possible in big cities
B. establishing industries in rural and small areas
C. decreasing the population in the rural areas

DD. creasing workplaces in heavily-populated areas

Which of the {ollowing statements reflects one of the four propositions in the final

(@3]

paragraph?
A. New industries should be used 1o produce local materials.
B. The creation of new jobs should cost as little as possible.
C. No more cmployment opportunities-should be created in cities.
D. The production workers should not ask for highly skilled jobs.
56. The one that is not a solution to the unemployment problem is that
A. more work opportunitics should be provided especially in rural areas
B. those who have their opportunities to work can make enough money from their jobs
C. the work opportunities should demand less from those who are employed in the jobs
D. the products turned out should be for local use by using the raw materials produced

locally

Passage Two

The contigmal_ requirements for holding congressional office in the United States are
few and simple. They include age (twenty-five years )/of age for the House of
Representatives, thirty {or the Senate) ; citizenship (seven yzears {or the House, nine years
for the Senate); and residency in the state from which the officeholder is elected. Thus, the
constitutional gateways to congressional office-holding are fairly wide.

Even these minimal requirements, however, sometimes across controversy. During the
1960’s and 1970, when people of the post-Sccond World War “baby boom” reached
maturity and the Twenty-sixth Amendment (permitting ecighteen year olds to vote) was
ratified, unsuccessful efforts werc made to lower the eligible age for senators and
representatives.

Because of American’s geographic mobility, residency sometimes is at issue. Voters
normally prefer candidates with long-standing ties to their states or districts. In his 1979
reclection campaign, for instance, Texas Senator John Tower effectively accused his
opponent, Representative Robert Krueger, of having spent most of his live “overseas or in
the East” studying to teaching—— a chz;rge taken seriously in Texas. Well-known
candidates sometimes succeed without such ties.” New York voters clected to the Senate
Robert F. Kennedy (1965—1968) and Daniel Patrick Moynihan (1977— ) even though
cach had spent much of his life elsewhere. While members of the House of Representatives
are not bound 10 live in the district from which they are elected, most do so prior to their



